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In [1]: 1 + 2
Out[1]: 3

In [2]: 143.5
Out[2]: 4.5

In [3]: -1+2.5
Out[3]: 1.5

In [4]: 100-45
Out[4]: 55

In [5]: -1.145
Out[5]: 3.9

In [6]: 3%2
Out[6]: 6

In [7]: 3.5%1.5
Out[7]: 5.25
In [8]: 3/2
Out([8]: 1.5

In [9]: 4/2
Out[9]: 2.0

In [10]: 3//2
Out[10]: 1

In [11]: -3//2



Qut[11]: -2

In [12]: 972
Out[12]: 1

In [14]: 2#%%2
Out[14]: 4

In [15]: 2*x10
Out[15]: 1024

In [16]: 1**10
Out[16]: 1

In [17]: 8%%(1/3)
Out[17]: 2.0

In [18]: 5+5%5
Out[18]: 30

In [19]: (5+5)*5
Out[19]: 50

In [20]: a=3
at+l

Out[20]: 4

In [6]: a=b
at+l

Qut[6]: 6

In [1]: import pylab
xvalues=(4,6,8)
yvalues=(2,3,4)

pylab.plot(xvalues,yvalues)
pylab.show()



4.00 1

375 4

350 4

3.25 1

3.00 -

275 -

250 1

225 1

200 4

In [14]: import pylab

xvalues=[5,8]
yvalues=[3,7]

def slope(xs, ys):
return (ys[1]-ys[0]) / (xs[1] - xs[0])

print(slope(xvalues,yvalues))

pylab.plot(xvalues,yvalues)
pylab.show()
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7.0 1

B.5 -

6.0 -
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3.0 1

4.5 1

4.0 1

35 1

3.0 -




